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QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which

must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the

space provided. No marks will be given for answers written in a medium other than the
authorized one.

Answers to Question Nos. 1 to 10 should be in 150 words each, whereas answers to
Question Nos. 11 to 20 should be in 250 words each.

Word limit in questions should be adhered to.

Any page or portion of the page left blank in the Question-cum-Answer Booklet must be
clearly struck off,
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Gﬂn&ﬁotﬂeﬂﬁﬁﬂh%ﬂﬁﬁmmomomufotﬁtaﬁi@ﬁu}mﬁamﬁmﬁqﬁ:iﬁﬁm
HEWE 1§ wEn i weEn B adim Akl o Roeh Hift (I 150 7= 3 Afi)

Faster economic growth requires increased share of the manufacturing sector in
GDP, particularly of MSMEs. Comment on the present policies of the Government in
this regard. (Answer in 150 words)

qumaﬁmﬁfgﬁuﬁmzﬁ@ﬁwa?mﬁﬁuﬁanﬁarcﬂmaﬂmqﬂwtﬁ:ﬁmam
qur F foe gaa Ot (IM 150 7= 3t Afiu)

What is the status of digitalization in the Indian economy? Examine the problems
faced in this regard and suggest improvements., (Answer in 150 words)

P T & e v fwom  {owells Rrarl B fee g ne w27 HURE ALY
(3 150 w= 3 Afi)
How does e-Technology help farmers in production and marketing of agricultural

produce? Explain it. (Answer in 150 words)
Wi 31 siff Gur & Rl v 3ol ) aagn) snfdE medd F siwda, v W@ w sifa i sfifa #)
¥ ware gur v w2, e B (3T 150 W= i Af)

State the objectives and measures of land reforms in India. Discuss how land ceiling
policy on landholding can be considered as an effective reform under economic

criteria. o Te\nﬁm&) ‘if'_m 150 words)

® »0 |\
Fhm gfg (vo 3mgo) A srEurwn W uitr ik o amﬁiﬂf@ﬁm’n ¥ WEE T 7w

S W F o e 3 v i, A Fdn W v T w0 3
‘\\_)\_\) (39 150 W= 3 difim)

Introduce the conccp{l?&ﬁl@;\aﬁd’l}atclligcncc (Al). How does Al help clinical
diagnosis_?llao :.;quiﬁ‘;\.-r’é_‘ch.:}nﬁy threat to privacy of the individual in the use of
Al in hed r.}'lc:{i'{;_-_;;’b\;ﬁ\“ (Answer in 150 words)
X
A fafim afmPa =t A e oerlil o v @ W du D B A ared § e a8
(3 150 W= i D)
Discuss several ways in which microorganisms can help in meeting the current fuel
shortage. (Answer in 150 words)

aledl ) faweran whan wermwd) A &, fada w9 & R D s, Rres wiomrasy stas si e @
mﬂazmm‘@m%lahﬂiﬁﬁm&sﬁlﬁamﬁmﬁmﬁwﬂhm@dﬁtﬁ‘lﬁrmmsﬁih'a‘!
Tt Afin (3M 150 =1 9 Afin)

Dam failures are always catastrophic, especially on the downstream side, resulting
in a colossal loss of life and property. Analyze the various causes of dam failures,
Give two examples of large dam failures. (Answer in 150 words)

ﬁammﬁ?mmﬂﬁammnﬂmwﬁ?!ﬂmﬂf&%m%mmﬁmﬁﬁam
fadu w0 A w3 (3T 150 w= it Difim)

What is oil pollution? What are its impacts on the marine ccosystem? In what way is
oil pollution particularly harmful for a country like India?

(Answer in 150 words)
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SFAR-sIfEE & # SweEe w1 faew awe 0§ R o Ram’ e o s w2 2
T Hay s o Fii d ded wmae F W w9 S g0 A9 Ty 3t w o fif)
(W 150 =1 # #ifSm)
Winning of ‘Hearts and Minds’ in terrorism-affected areas is an essential step in
restoring the trust of the population. Discuss the measures adopted by the

Government in this respect as part of the conflict resolution in Jammu and
Kashmir, (Answer in 150 words)

i R & gt g wfean /ien-awee, gw sk AHada war anEt (go o o) ) war A wdarn
S T g & e i wao ¥ @ wa @ e F frg frg @ S9R w R $if
(IW 150 w=t % o)

The use of unmanned aerial vehicles (UAVs) by our adversaries across the borders
to ferry arms/ammunitions, drugs, etc., is a serious threat to the internal security.
Comment on the measures being taken to tackle this threat.

(Answer in 150 words)

WIE A wEl e R v § s ) wE # Fe A e F R s T e
gl i st gur & gam A (3| 250 w2t # #ifdm)
Most of the unemployment in India is structural in nature. Examine the

methodology adopted to compute unemployment in tlac.cu d suggest
improvements. il 250 words)

B
avE adeE’ W@t ‘ghwa s’ ¥ %ﬁm%mm
mﬂmaﬁgﬁ‘fﬂmﬂtﬁmmﬂ (3| 250 wr=i & Hifs)

Distinguish between ‘monetized economy’. How can care
economy be brought i conomy through women empowerment?

u (Answer in 250 words)

@ Y aﬁﬁqﬁaﬁq%ﬁzﬁﬂ,mﬂmm(ﬁﬁn&aﬂﬁ@qﬂﬁiﬁ
e i (I 250 weat # )

Explain the changes in cropping pattern in India in the context of changes in
consumption pattern and marketing conditions. (Answer in 250 words)

mﬁﬁmﬁmﬁaﬁmmmq&mmmwﬁ faw MR W (T Ao
ﬁo)mmmvﬁmmgﬁﬁmﬁﬁql (3 250 vzt # ifdm)
What are the direct and indirect subsidies provided to farm sector in India? Discuss
the issues raised by the World Trade Organization (WTO) in relation to agricultural
subsidies. (Answer in 250 words)

ﬁ%mﬁaﬁmgﬁmmﬁﬁﬁmmtlwmﬁmmiﬁﬁwmﬁ
mm!mmmmmﬁﬁwﬁ&mmmmmﬂ?
(I 250 w== & #ifdm)

The adoption of electric vehicles is rapidly growing worldwide. How do electric
vehicles contribute to reducing carbon emissions and what are the key benefits they
offer compared to traditional combustion engine vehicles?

(Answer in 250 words)
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16. i@ % e dzm e @ yen W wm R B s wed F fem § wfte wd e owwt fe
3w W ot W R @ 3R g A sdfte siafe-am ) sonfedl #) wege fifi s
fagm wrowd siafen ¥ & ‘s whew fdam S 3w s w avia A B i R
kel A # v fm R (3w 250 W=l 1 Qi)
What is the main task of India’s third moon mission which could not be achieved in
its carlier mission? List the countries that have achieved this task. Introduce the

subsystems in the spacecraft launched and explain the role of the Virtual Launch
Control Centre’ at the Vikram Sarabhai Space Centre which contributed to the

successful launch from Sriharikota. (Answer in 250 words) 15
17. WRa @R g & fhe e ufa sy wem s @ feofl fifie si i weEd & mite
s wew B v B Fo smiyfa % am fiferg (I 250 = 1 )

Comment on the National Wetland Conservation Programme initiated by the
Government of India and name a few India’s wetlands of international importance
included in the Ramsar Sites. (Answer in 250 words) 15

18, erary Yiadd W s -ael e (3mgo dio Mo o) I Afirw wR-Tw A 2100 f=h @ T Uh
Wiz R gfe ® qaigum wm ¥ feee wemen A 3 wa sl g R A e w0 owvE @me

(3m 250 w=) A v

The Intergovernmental Panel on Climate Change (IPCC) has p;cdmtecﬁx global sea

level rise of about one metre by AD 2100. What would be its, unpacE_:/andm and the
other countries in the Indian Ocean rcgwn? C\\ ‘\L“(&nswcr in 250 words) 15

.
19. wmﬂmﬁaﬁmmmmfﬁw\ﬂ}‘i,@ w1 gFEen A & o P
i e i i e ot e A (I 250 W= A difre)
What are the_ mn.rnal utcuﬂty)challcnges being faced by India? Give out the role of
Central Intell:gcncc ‘and 'Investigative Agencies tasked to counter such threats.
\\‘:;\JJ (Answer in 250 words) 15

20, WA i sEwar % e F wga w@a ol @ At A FAd@ B g By e waml w T W
el 1, e @ 3 R # e 2022 § g ‘swwar & g v Tl (Te we wwe Ao’
Wi F @R wE g A of) fae B (IM 250 = 1 difvm)
Give out the major sources of terror funding in India and the efforts being made to
curtail these sources. In the light of this, also discuss the aim and objective of the
‘No Money for Terror (NMFT)’ Conference recently held at New Delhi in November
2022, (Answer in 250 words) 15
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